Key Stage 2: arithmetic paper 1
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4 | 3876-2799

5 + 45 = 864

6 7squared - 5squared
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7 3cubed + 2cubed

8 Qq X 3=

9 5/6 + 5/6=
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10 | 146x 8

11 | 4242 divided by 3

12 | 34,567.87- 3,451.58
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13 4/5 of 35

14 20 % of 350

15 7/8 divided by 3/5 (KFC)
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16 Divide 1668 by 3
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17 6-2 x 2
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18 Five and two thirds multiplied by 2 and a half
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45% Of £ 3.20
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22 Three and a quarter plus Six and two thirds
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23 172.56 X 13.5X 0

24 49 multiplied by 67

e U8 tat e 1L A==l = - — AT “u L. =
| |

— —_— — e e e e e e

= —————— e ——— A = m = w —_— —_———y
1
| |

S S SIS I S S S, SE— S— ' —

1

Siwinkl cok. You may photocopy this page. “




